#$22E MFLYrX<T7V v
<3kmBEAZF (b)) >

1{3km&zFHF4E 46002| il R GBI BAFN AR AR 0:10:30 0:10:29
2|3kmZFrRF4E 46001|LO  BBE LR 0:11:13 0:11:12
3[3kmz FhEAE 46004|50 f1E MILE |BEHIBE=FER 0:11:49 0:11:44
4[3kmZzzFhFE 46009| Kt mki KBRAF 0:11:53 0:11:51
5|3kmZFrRF4E 46007 |#HF8B FF FMALE 0:11:54 0:11:51
6|3kmZFRF4E 46016338 =# LR SEARFEIILFF 0:12:37 0:12:33
T|3kmZFRF4E 46010|FH &R LR REFFER 0:12:57 0:12:52
8[3kmEzFhFE 46008|=A& #EE KBRAF MREE 6 PR 0:13:08 0:13:06
9|3kmZFHF4E 46011 |HE K LR [Episieatiy 0:13:13 0:13:08
10|3kmZz FHFE 46017 | AR B SEARFFL A F 0:13:22 0:13:18
11{3kmZFHF4E 46012 |F%HE 4 FALE TR R 0:14:05 0:13:59
12(3kmZFHF4E 46013/ BHR LR TR 0:14:05 0:13:59
13[3kmZFHF4E 46033|EA& $HfE ML R 0:14:15 0:14:08
14{3kmZFHF4E 46027 k)1l F_AE ML E BRI = RER 0:14:28 0:14:23
15(3kmZFHF4E 46018|XH FZF ML R 0:14:45 0:14:37
16(3kmZFHF4E 46040104 OVE ML R 0:14:45 0:14:41
17(3kmZFHF4E 46032|EE LF LR 0:15:06 0:14:54
18(3kmZFHF4E 46025|1L0 EK LR EHE R 0:15:03 0:14:55
19(3kmZFHF4E 46022|F1L FE ML R 0:15:23 0:15:11
20|3km#&z FHRFE 46041(H ¥—H> KBRAF 0:15:24 0:15:20
21|13km&Z FHRFE 46015|3% #=4& LR BHEBZAEMFFR 0:15:44 0:15:39
22|3km#& FHRFEE 46020|H)Il KE LR B PR 0:15:44 0:15:39
23|3km&z FHFE4E 46003|EA #TH MILE | BEHBIIBMRER 0:15:44 0:15:40
24|3kmZ FHRFEE 46043|ML FRER I 0:16:28 0:16:23
25|3km&Z FHRFEE 46045 |73k EA KBRAF 0:17:21 0:17:12
26|3km&z FHRFEE 46044|F8 EH KBRAF 0:17:21 0:17:12
27|3km&Z FHRFEE 46006| EF  FIfE LR 0:17:36 0:17:31
28|3km&Z FHRFEE 46024| 5z < B LR 0:17:40 0:17:31
29|3km&Z FHRFEE 46031 |+l %A LS 0:17:44 0:17:35
30|3km&Z FHRFEE 4602988 K B MaLE 0:17:48 0:17:39
31|13km&Z FHRFEE 46030|=A& &P I 0:18:16 0:18:07
32|3kmic F L 46014352 15 KR AF flamingo fc 0:19:57 0:19:51
33(3kmi FhFELE 46034 | % B3 B 0:22:18 0:22:10
34|3kmZ FHRFEE 46035(F)Il =& I 0:24:27 0:24:16
35(3kmZ& FHhEE 46037|KF1T < B I 0:51:46 0:51:46




